Use the models below to fin thle miscin$f ctors.
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3\ \%‘ Use the models below to find thie mis<‘in$ factors.
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The model has 6 columns. 2 out of these 6 columns are shaded in blue

These blue columns represents the given fraction
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Iso, the model has 7 rows. 3 out of these 7 rows are shaded in gree
These green rows represents the missing fraction -f—

Therefore, the complete expression is 12 Ix % = 6
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dellhas 4 columns. 4 out of these 4 columns are shaded in grey.

Jrey columns represents the missing fraction =

e model has 9 rows. 4 out of these 9 rows are shaded in orange

range rows represents the missing given fraction -
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refore, the complete expression is X |z —~
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The model has 11 columns. 6 out of these 11 columns are shaded in yellow

These yellow columns represents the fraction -%(11 is/thelmissing numbel)
s

Iso, the model has 9 rows.3/out of these 9 rows are shaded in purple

These purple rows represents the missing fraction %

6 x - 18

Therefore, the complete expression is 3 =
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